
a SIT Group company

Product List



OMVL
driving 

toward a cleaner future



FRONT KIT
DREAM XXI N LPG 5

Kit for injection engines with catalyser and lambda probe
With catalytic device REG-MATIC MILLENNIUM 5
With deceleration switch 410115.1 5
With actuator "REG-MATIC" GAS SELF SETTING 5
Reduced Kits (without pipes and clamps) 5
With actuator "REG-MATIC" GAS SELF SETTING 5

Kit for injection engines
For injection engines with deceleration switch 410115.1 5

Kit for carburettor engines 5

COMPONENTS
LPG Reducers

Kit for carburettor engine supplied without switch 6
Boxes of LPG reducers 6
Boxes of LPG reducers + solenoid valves 6

Devices for cars with catalytic muffler
REG-MATIC MILLENNIUM 6

"REG-MATIC" MILLENNIUM Accessories
REG-MATIC GAS SELF SETTING 6

"REG-MATIC" GAS SELF SETTING Accessories
Econ-Ec

Solenoid Valves 7

Change over switches
For vacuum reducer, not preset fol level indicator 7
For vacuum reducer, preset fol level indicator 7
For electronic reducers, not preset for level gauge 7
For electronic reducers, preset for level indicator (ECE 67 R.01) 7

LPG level sensor kit
For switches preset for level gauge 7

LPG level indicator 7

Injection cars harness cables 7

LPG multivalves with "Secure Block" device
ECE 67 R.01 For cylindrical tanks with safety valve and thermofuse 8
ECE 67 R.01 For toroidal tanks with safety valve and thermofuse 9

IN
D

EX
 L

PG



ACCESSORIES
Dream XXI N Accessories

Injector cut-off cables 10
Software and serial cable 10
Injection rail unit nozzles 10
Filters 10

Cables for injection cars 10

Relays for injection cars 10

Emulators
For Injectors 11
For vehicles equipped with OBD II device 11
For Lambda probe 11

Cables accessories
For switches, emulators, indicators and Timing advance processors 12

Electronic accessories 12

Electrical accessories 12

Forks - Couplings - Adjusters 13

Hoses and Tubes
Gas Hoses 13
Gasoline hoses 13
Vacuum hoses 13
Water Hoses 13
Copper and Steel Pipes 13
Vent Hoses 13

Hose clamps 14

Unions
Unions for LPG equipment 14
Unions for coolant hoses 14

LPG Tank accessories 15

LPG Tank support frame 15

Airtight boxes 15

LPG Equipment Accessories 15

SPARE PARTS
DREAM XXI spare parts

Injection Rail Unit 16
Reducers 16
ECU - Electronic Control Unit 16
Cablings 16
Miscellaneous 16

IN
D

EX
 L

PG



This catalogue, precious tool for all the technicians installing REG® components, will be kept up-dated by OMVL,
through a regular dispatch of the latest information on perforated pages, that only need to be inserted in the
catalogue already in the Customer’s possession. This simple but essential operation will ensure that this publication
remains an efficient and reliable reference tool.

Reproduction, duplication and translation of this publication, including excerpts therefrom, is only to ensue with our
previous written consent and with particulars of source. Illustrations, descriptions, schematic diagrams and other
data only serve for explanatory purposes and for presentation of the text. They cannot be used as the basis for design,
installation and scope of delivery. We undertake no liability for conformity of the contents with international,
national or local regulations. We reserve the right to make changes at any time, without prior notice.



LP
G

FR
O

N
T 

KI
T

5

Code Description

FRONT KIT

Reducer / Vaporizer

ECU Electronic Control Unit

Injectronic Control Unit

Charge-over switch gas/petrol

DREAM XXI N LPG

Complete Kit
Complete Kit Reducer, ECU, injection rail unit, LPG filter on gaseous phase,
switch with LPG level sensor, injector gas hoses, gas hoses from reducer to
metering unit, differential pressure sensor, water hoses, copper tube, vacuum
hoses and LPG level sensor for OMVL multivalve, fitting accessories

900802 Complete Kit for 4 Cylinder vehicles Stand Alone

900811 Complete Kit for 3 Cylinder vehicles

900810 Complete Kit for 4 Cylinder vehicles

900812 Complete Kit for 5 Cylinder vehicles

900813 Complete Kit for 6 Cylinder vehicles

900814 Complete Kit for 8 Cylinder vehicles

900823 Complete Kit for 4 Cylinder vehicles boxer

Mini Kit
Reducer, ECU, injection rail unit, LPG filter on gaseous phase, switch with LPG
level sensor, injector gas hoses, gas hoses from reducer to metering unit,
differential pressure sensor, fitting accessories

900815 MiniKit for 3 Cylinder vehicles

900816 MiniKit for 4 Cylinder vehicles

900817 MiniKit for 5 Cylinder vehicles

900818 MiniKit for 6 Cylinder vehicles

900819 MiniKit for 8 Cylinder vehicles

Kit for injection engines with catalyser and lambda probe
With catalytic device REG-MATIC MILLENNIUM

900140 With reducer R90/E up to EURO 4

With deceleration switch 410115.1
900127QD With reducer R90/E for Bosch monoinjection Kat.+Econ-Ec

900128QD With reducer R90/E for standard injection Kat. + Econ-Ec

With actuator "REG-MATIC"  GAS SELF SETTING
900127QD.1 With reducer R90/E for cat.injection cars + REGMATIC 

Reduced Kits (without pipes and clamps)
900125QD With reducer R90/E for Bosch monoinjection Kat.+Econ-Ec

900126QD With reducer R90/E for standard injection Kat.+Econ-Ec

With actuator "REG-MATIC"  GAS SELF SETTING
900125QD.1 With reducer R90/E for cat.injection cars + REGMATIC 

Kit for injection engines
For injection engines with deceleration switch 410115.1

900107/IQD With R90/E standard injection electronic reducer

Kit for carburettor engines
900107/CQ With R90/E electronic reducer and switch 410116



LP
G

6

Code Description

CO
M

PO
N

EN
TS

Reducer / Vaporizer

R04 REGBULL

KIT REG-MATIC MILLENNIUM 

REG-MATIC MILLENNIUM
serial interface

COMPONENTS

LPG Reducers

Kit for carburettor engine supplied without switch
901800 R04 REGBULL LPG Multifunctional Pressure Reducer

901501K R90/E cat., electronic for catalytic injection ECE 67R.01

901504K R90/E electronic D.8 for catalytic injection ECE 67R.01

Boxes of LPG reducers 
CF10R90CAT Box of 10 reducers 901501K

Boxes of LPG reducers + solenoid valves
CFR90ECAT+E Box of 10 reducer 901501K and 10 solenoid valves model "E" 902017

CFR90ECAT+S Box of 10 reducers 901501K and 10 solenoid valves model "S" 902012

Devices for cars with catalytic muffler

REG-MATIC MILLENNIUM
411031 "REG-MATIC"  MILLENNIUM electronic actuator, supplied with switch, 

electronic control unit and accessories

"REG-MATIC" MILLENNIUM Accessories:
411028 "REG-MATIC" MILLENNIUM serial interface

411030 "REG-MATIC" MILLENNIUM Software feed back (CD)

411032 "REG-MATIC" MILLENNIUM hand-held tester

REG-MATIC GAS SELF SETTING
915009 "REG-MATIC" Gas Self Setting complete electronic actuator, 

with electronic control unit and standard cables.

"REG-MATIC" GAS SELF SETTING Accessories
410136 Cable with adjusting push-button for "REG-MATIC" car's deskboard

410137 Cable with adjusting push-button for "REG-MATIC"

Econ-Ec
915004 "Econ-Ec" electro-pneumatic device, without electronic control unit

410111 "Econ-Ec" electronic control unit - 0.53 Volt, 5 wires - for BOSCH monoinjection

410112 "Econ-Ec" electronic control unit - 0.53 Volt, 5 wires - for standard injection

410054 Tester for "Econ-Ec" actuator

REG-MATIC



LP
G

CO
M

PO
N

EN
TS

7

Charge-over switch gas/petrol

Codice Descrizione

LPG Solenoid valve 

Solenoid Valves

902002 LPG Solenoid valve type "E" brass ECE 67 R.00

902017 LPG Solenoid valve type "E" brass ECE 67 R.01

902009 Petrol Solenoid valve brass

902012 LPG Solenoid valve type "S" brass ECE 67 R.01

Change over switches

For vacuum reducer, not preset for level indicator
410015 With led and manual primer, without carburettor filling

For vacuum reducer, preset for level indicator
410045 With manual primer, without carburettor filling

410046 With manual primer and carburettor filling 

For electronic reducers, not preset for level gauge
410103 Mod. "Dual fuel", gasoline engine start, acceleration fuel switch 

410109 Mod. "Dual fuel", gasoline engine start, deceleration fuel switch 

410104 Mod. "Lynx" with "Safety car" and carburettor filling, "I" series 

410105 Mod. "Lynx" with "Safety car" without carburettor filling, "I" series

For electronic reducers, preset for level indicator (ECE 67 R.01)
410101.1 Mod. "Dual fuel", SMALL, gasoline engine start, acceleration fuel switch

410115.1 Mod. "Dual fuel", SMALL, gasoline engine start, deceleration fuel switch 

410106 Mod. "Lynx" with "Safety car" without carburettor filling 

410116 Mod. "Lynx" with "Safety car" and carburettor filling

LPG level sensor kit

For switches preset for level gauge
411034 For LPG OMVL "SECURE BLOCK" multivalves ECE R67.01 

411040 For Tomasetto LPG RIGHT multivalves R67.01 Standard 0-90 Ohm

411026 For LPG valves USA version (0-90 Ohm) for 4 holes tank i 

411027 For LPG valves Holland version (0-90 Ohm) for 4 holes tank 

410165 Adapter from gauge 0-90 Ohm to pre-set switch for level indicator

411018 Adapter from gauge 0-95 Ohm to pre-set switch for level indicator

LPG level indicator

422077 With 5 leds (without sensor kit)

Injection cars harness cables

410070 For injectors cut-off on 4 cylinders engines, with "Timing relay"

NOTE: For 8 cylinders engine, use 2 cables Code 410070
410071 For injectors cut-off on 6 cylinders engines, with "Timing relay"

410074 For injectors cut-off on Alfa Romeo "boxer" engine, with "timing relay"

COMPONENTS



8

CO
M

PO
N

EN
TS

LPG multivalves with "Secure Block" device

ECE 67 R.01 For cylindrical tanks with safety valve and thermofuse

427001 OMVL for D. 200 tank, hole set at 30°, with filling plu

427002 OMVL for D. 244 tank, hole set at 30°, with filling plug 

427003 OMVL for D. 270 tank, hole set at 30°, with filling plug 

427004 OMVL for D. 300 tank, hole set at 30°, with filling plug 

427005 OMVL for D. 315 tank, hole set at 30°, with filling plug

427006 OMVL for D. 360 tank, hole set at 30°, with filling plug 

427007 OMVL for D. 400 tank, hole set at 30°, with filling plug 

427008 OMVL for D. 200 tank, hole set at 37°, with filling plug 

427009 OMVL for D. 244 tank, hole set at 37°, with filling plug 

427010 OMVL for D. 270 tank, hole set at 37°, with filling plug 

427011 OMVL for D. 300 tank, hole set at 37°, with filling plug 

427012 OMVL for D. 315 tank, hole set at 37°, with filling plug

427013 OMVL for D. 360 tank, hole set at 37°, with filling plug 

427014 OMVL for D. 400 tank, hole set at 37°, with filling plug 

427015 OMVL for D. 200 tank, hole set at 90°, with filling plug 

427016 OMVL for D. 244 tank, hole set at 90°, with filling plug

427017 OMVL for D. 270 tank, hole set at 90°, with filling plug 

427018 OMVL for D. 300 tank, hole set at 90°, with filling plug

427019 OMVL for D. 315 tank, hole set at 90°, with filling plug

427020 OMVL for D. 360 tank, hole set at 90°, with filling plug

427021 OMVL for D. 400 tank, hole set at 90°, with filling plug 

Code Description

COMPONENTS

LPG multivalves with 
"Secure Block" device

LP
G



CO
M

PO
N

EN
TS

9

Code Description

Multivalves with "Secure Block"

ECE 67 R.01 For toroidal tanks with safety valve and thermofuse

427500 OMVL for D. 180 tank, hole set at 30°, with filling plug 

427501 OMVL for D. 200 tank, hole set at 30°, with filling plug 

427502 OMVL for D. 204 tank, hole set at 30°, with filling plug 

427503 OMVL for D. 210 tank, hole set at 30°, with filling plug 

427504 OMVL for D. 220 tank, hole set at 30°, with filling plug

427505 OMVL for D. 225 tank, hole set at 30°, with filling plug 

427506 OMVL for D. 230 tank, hole set at 30°, with filling plug 

427507 OMVL for D. 240 tank, hole set at 30°, with filling plug

427508 OMVL for D. 250 tank, hole set at 30°, with filling plug

427509 OMVL for D. 260 tank, hole set at 30°, with filling plug 

427510 OMVL for D. 270 tank, hole set at 30°, with filling plug 

427511 OMVL for D. 180 tank, hole set at 37°, with filling plug 

427512 OMVL for D. 200 tank, hole set at 37°, with filling plug 

427513 OMVL for D. 204 tank, hole set at 37°, with filling plug

427514 OMVL for D. 210 tank, hole set at 37°, with filling plug

427515 OMVL for D. 220 tank, hole set at 37°, with filling plug

427516 OMVL for D. 225 tank, hole set at 37°, with filling plug 

427517 OMVL for D. 230 tank, hole set at 37°, with filling plug 

427518 OMVL for D. 240 tank, hole set at 37°, with filling plug 

427519 OMVL for D. 250 tank, hole set at 37°, with filling plug 

427520 OMVL for D. 260 tank, hole set at 37°, with filling plug 

427521 OMVL for D. 270 tank, hole set at 37°, with filling plug 

427522 OMVL for D. 180 tank, hole set at 90°, with filling plug 

427523 OMVL for D. 200 tank, hole set at 90°, with filling plug 

427524 OMVL for D. 204 tank, hole set at 90°, with filling plug 

427525 OMVL for D. 210 tank, hole set at 90°, with filling plug

427526 OMVL for D. 220 tank, hole set at 90°, with filling plug

427527 OMVL for D. 225 tank, hole set at 90°, with filling plug 

427528 OMVL for D. 230 tank, hole set at 90°, with filling plug

427529 OMVL for D. 240 tank, hole set at 90°, with filling plug

427530 OMVL for D. 250 tank, hole set at 90°, with filling plug

427531 OMVL for D. 260 tank, hole set at 90°, with filling plug

427532 OMVL for D. 270 tank, hole set at 90°, with filling plug 

427600 OMVL for D. 145 tank, hole set at 0°, with filling plug 

427601 OMVL for D. 180 tank, hole set at 0°, with filling plug 

427602 OMVL for D. 200 tank, hole set at 0°, with filling plug

427603 OMVL for D. 204 tank, hole set at 0°, with filling plug

427604 OMVL for D. 210 tank, hole set at 0°, with filling plug

427605 OMVL for D. 220 tank, hole set at 0°, with filling plug 

427606 OMVL for D. 225 tank, hole set at 0°, with filling plug 

427607 OMVL for D. 230 tank, hole set at 0°, with filling plug

427608 OMVL for D. 240 tank, hole set at 0°, with filling plug 

427609 OMVL for D. 250 tank, hole set at 0°, with filling plug

427610 OMVL for D. 270 tank, hole set at 0°, with filling plug 

COMPONENTS

LP
G



10

Dream XXI N Accessories

Injector cut-off cables
410514 Injector cut-off cable for 3 cylinders car with straight BOSCH connector

410515 Injector cut-off cable for 3 cylinders car with inverted BOSCH connector

410516 Injector cut-off cable for 4 cylinders car with straight BOSCH connector

410517 Injector cut-off cable for 4 cylinders car with inverted BOSCH connector

410518 Universal type Injector cut-off cable for 4 cylinders car without connector

N.B.
For DREAM 3 - 4 cylinders kit the injection cut-off cable to be ordered is only one
For DREAM 5 - 6 cylinders kit n°2 3 cylinders injection cut-off cables are required
For DREAM 8 cylinders kit n°2 4 cylinder injection cut-off cables are required

Software and serial cable
410523 Kit installation Software for "Installer" 

410524 Kit installation Software + hardware key

410519 Software + hardware key for "Emission Test" 

411028 Kit installation Software + pc serial interface

411050 USB interface for Pc

Injection rail unit nozzles
01408 Injection rail unit nozzle diam. 2.5 mm

01442 Injection rail unit nozzle diam. 2.0 mm

01444 Injection rail unit nozzle diam. 1.75 mm

01445 Injection rail unit nozzle diam. 3 mm

900083 Package nr. 20 Injection rail unit nozzles diam. 2.5 mm

900081 Package nr. 20 Injection rail unit nozzles diam. 2.0 mm

900085 Package nr. 20 Injection rail unit nozzles diam. 1.75 mm

900086 Package nr. 20 Injection rail unit nozzles diam. 3 mm

Filters
900011 LPG for gaseous phase (to be placed between reducer and injection rai unit)

Cables for injection cars

410070 For Injector cut-off  on 4 cylinders engines supplied with "timing relay"

NOTE: Nr 2 cables 410070 are required for 8 cilynders 
410071 For Injector cut-off on 6 cylinders engines supplied with "Timing relay"

410074 For Injector cut-off for Alfa Romeo "boxer" engine supplied with "Timing relay"

Relays for injection cars

410020 12V, 30Amp injection car relay

410064 Timing relay

410073 Adjustable Timing relay

410083 Double timing relay

410091 KEY-CODE electronic relay

410131 30Amp double switch relay

Code Description

ACCESSORIES

Software and hardware key

Injection rail unit nozzles

Filters

A
CC

ES
SO

RI
ES

Timing relay

LP
G



A
CC

ES
SO

RI
ES

11

Code Description

Emulators

For Injectors
410159 Single bank injector emulator (it replaces cod 410030 AEB450)

410160 Dual bank injector emulator, 4 or 6 cylinders engine (it replaces code 410036 AEB451)

410049 For Renix injection engines

410052 "Oxigen sensor" simulator

410059 For MERCEDES M200

410061 For FIAT TEMPRA and LANCIA DEDRA 1.8 / 2.0 cat. Multipoint injection

410062 For ALFA ROMEO 155 e 164 cat.

410063 For FIAT PANDA cat.

410065 For HONDA bi-iniezione

410066 For OPEL ASTRA

410075 For NISSAN PRIMERA 1.6 16V multipoint injection

410077 M.A.P. sensor

410082 For LANCIA "K"

410089 For VOLVO 1.5 ohm mono-injection

410123 Mod. KNOCK

410127 For HYUNDAI LANTRA 1.6i - 1.8i SIEMENS multipoint injection

410133 Mod. Archimede for 4 cylinders ISUZU engine

410146 Mod. Pitagora "AEB 160"

410147 Mod. Pitagora "AEB 160-J" for 4 cylinders Japan engines 

410148 Mod. Pitagora "AEB 160-H" for HONDA engines 

410149 Mod. Pitagora "AEB 160-S" for 4 cylinders SUBARU engine 

410150 Mod. Pitagora "AEB 160-B" for 4 cylinders "boxer" engine 

410151 Mod. Pitagora "AEB 160-FB" for FIAT BRAVO e BRAVA 

410152 Mod. Pitagora "AEB 160-5" for 5 cylinders engine

410153 Mod. Pitagora "AEB 160-6" for 8 cylinders engine

410154 Mod. Pitagora "AEB 160-N" for 4 cylinders NISSAN engine

410155 For IAW AMERICA injection engine

410146.1 Mod. Pitagora 4 cylinders "Universal" Type

410149.1 Mod. Pitagora 4 cylinders Subaru Forester

410153.1 Mod. Pitagora 6 cylinders "Universal" Type

For vehicles equipped with OBD II device
410323 OBD II-µFIX "424" 

410324 OBD II-µFIX "425"

410325 OBD II-µFIX "426" (it replaces code 410162 AEB 421)

411038 Diagnostic had-held Tester for OBD II device

410170 Programming kit for OBD II device

410327 Adapter from AEB 425 to lamda probe in tension

For Lambda probe
410051 For BOSCH mono-injection

410085 For OPEL ECOTEC 16V

410086 For reverse signal 5Volt Lambda probe, VOLVO 840 10V

410087 For resistive Lambda probe, ALFA ROMEO 145 1.300cc

410134 For VOLVO 850 GLT 20v 2.0 BOSCH injection

ACCESSORIES

Emulatore MAP

Dual bank injector emulator

Pitagora "AEB 160" Emulator

OBD II-µFIX "425" emulator

Diagnostic had-held Tester 
for OBD II device

LP
G



12

Cables accessories

For switches, emulators, indicators and Timing advance processors
410056 Extension for LPG level sensor

410081 Extension for "I" series LPG level sensor 

410055 Cables and accessories for Econ-Ec remote unit / change over switch processor

410055I Cables for "I" series indicator

410079 Cables for 410061 - 410062 - 410066 emulators

Electronic accessories

410156 "SPHERENET" kit electromagnetic noises blanker (1 pair)

410043 Idling stabilizer

410171 Mechanical idling adjuster

410076 Signal amplifier

410167 RPM Signal amplifier multiplier

410168 RPM signal doubler for bi-bobbins engine

410169 RPM multiplier

410080 5Volt Lambda probe adapter

410100 Adjustable "Safety car", without change-over switch

410117 Starting protection

410120 BOSCH mono-injection idling stabilizer

410121 MAP-GAS, MAP signal optimizator

410124 K/J stop device

410128 Adapter with temperature sensor

410129 "Cut-Off" idling valve (Injector signal)

410164 "Cut-Off" device for TPS

410321 MAP-GAS, MAP signal optimizator for Marelli I.A.W. 49F injection

for FIAT Marea; Brava; Bravo  LANCIA Delta; Dedra 1,6i 16V cat.

434013 available display in other languages

Electrical accessories

410016 Pre-tinned faston

410018 Cable terminal cover

410033 "MTA" fuse holder

410034 "MTA" 5Amp lamellar fuse

410035 sp. 025/1 "MTA" "steal-electricity" connector

410047 "MTA" fuse cover

434009 Electric welder

434012 Cutter for "I" series change-over switches

434012.1 Cutter for "SMALL" series change-over switches

915007 "MTA" plate fuse holder kit

Code Description

ACCESSORIES

Cut-Off device for TPS

A
CC

ES
SO

RI
ES

LP
G



A
CC

ES
SO

RI
ES

13

Code Description

Forks - Couplings - Adjusters
405001 Idling "2 ways" fork coupling (iron)

405002 Idling "4 ways" fork coupling

405003 Idling "2 ways" fork coupling (nylon)

405005 17x17x17 maximum "Y" fork coupling, without adjuster (nylon)

401003 Coupling diam. 8 a 90°

401004 Coupling diam. 10 a 90°, M10x1 "long"

905001 Coupling M8 for diam. 10 pipe

905002 Coupling M10 for diam. 10 pipe

905003 Coupling M12 for diam. 12 pipe

905005 Coupling M10 for diam. 16 pipe

905006 Coupling M12 for diam. 16 pipe

401010 "Y" adjuster diam. 17x17x17 1R with spring (nylon)

907001 Separate self block adjuster diam. 17x10 1R

907003 Separate self block adjuster 17x17 1R

907004 Separate self block adjuster "Y" diam. 17x10x10 1R 

907005 Separate self block adjuster "Y" diam. 17x10x10 2R

401005 Noozle 14x1, pipe diam. 19, with adjuster

405004 4 ways distributor without adjuster

405025 Elbow connection at 90° M12x1 (short)

Hoses and Tubes
Gas Hoses

631021 Rubber hose cloth sheathed D. 12 x 17

631023 Rubber hose cloth sheathed D. 10 x 17

631024 Rubber hose cloth sheathed D. 18 x 26

631029 Rubber Hose  D. 17 x 24  ECE 67 R.01 marked  

631030 Rubber Hose  D. 19 x 27  ECE 67 R.01 marked

631031 Rubber Hose  D. 12 x 19  ECE 67 R.01 marked 

631035 Rubber Hose  D. 10 x 17  ECE 67 R.01 marked

Gasoline hoses
631022 Roll of rubber hose D. 6 x 13 x 50 mt

Vacuum hoses
631002 Roll of rubber hose N220 D. 3 x 7

631004 Roll of cloth reinforced rubber hose D. 5 x 10.5

Water Hoses
631006 Rubber hose roll D. 15 x 23  (60 mt) -  � x mt.

631006C "Gates" Roll of Rubber Hose   D. 15 x 23  (15 mt)

Copper and Steel Pipes
00799/0 Copper tube PVC coated D. 6 x 1 x 5.5 mt

00800/0 Copper tube PVC coated D. 6 x 1 x 6.25 mt

00803/0 Copper tube PVC coated D. 8 x 1 x 2.2 mt

00804/0 Copper tube PVC coated D. 8 x 1 x 2.5 mt

618005 Roll of copper tube PVC coated D. 6 x 1 x 50 mt

618007 Roll of copper tube PVC coated D. 8 x 1 da 50 mt

00796/1 Roll of electrically welded steel tube PVC coated D. 6 x 1 x 6 mt

00796/2 Roll of seamless steel tube PVC coated D. 6 x 1 x 6 mt

Vent Hoses
631040 Roll of black MOPLEN hose D. 30 x 50 mt

631041 Roll of black PVC hose D. 30 x 50 mt

430016 Extensible vent hose cm. 70 long

ACCESSORIES

LP
G



14

Hose clamps
415002 D.10 clamp for D. 8 x 1 tube

415003 D. 8 clamp for D. 6 x 1 tube

415004 135 x 2.6 black nylon clamp

415007 200 x 2.6 black nylon clamp

415014 240 x 8 black nylon clamp

415025 D. 10 x 18 screw clamp (gasoline hose) 

415024 D. 12 x 22 screw clamp (minimum batch 1.000 pcs)

415009 D. 16 x 25 screw clamp (water hose)

415010 D. 20 x 32 screw clamp

415011 D. 25 x 40 screw clamp

415012 D. 32 x 50 screw clamp

415013 D. 40 x 60 screw clamp (minimum batch 800 pcs)

415015 Split pin clamp 270 x 9

415016 Split pin clamp 250 x 5

415017 Split pin clamp 400 x 9

415020 Bifilar clamp 7.8 / 8.3 with spring

415021 Bifilar clamp 25.1 / 26.4 with spring

415022 Rubber coated clamp fori D. 8 tube (minimum batch 100 pcs)

415023 Rubber coated clamp for D. 6 tube 

Unions
Unions for LPG equipment

430027 Long lock fitting M12 x 1 (steel)

430032 Long lock fitting M12 x 1 for D. 8 copper tube (iron)

00602/0 Lock fitting M10 x 1 (brass)

00538/0 Lock fitting M10 x 1 (iron)

00612/0 Lock fitting M12 x 1 (steel)

00548/0 Intermediate fitting M12 x 1 (brass)

00548/1 Intermediate fitting M12 x 1 (stainless steel AISI 316)

00680/0 Gauge holder "T" fitting (brass)

450005 Complete M10 x 1 "T" fitting for D. 6 copper tube 

00613/0 Steel biconic gland for D. 6 tube 

00613/1 Stainless steel AISI 316 bicone for D. 6 tube

00747/0 Brass biconic gland for D. 8 tube

00550/1 M12 x 1 cap

00557/0 M10 x 1cap

450007 Complete M12 x 1 union for D. 6 copper tube

Unions for coolant hoses
450001 Nylon "T" D. 20 x 20 x 16 union

00522/1 Nylon "T"  D. 17 x 17 x 17 union

00585/1 Nylon "T" D. 17 x 14 x 14 union

450002 D. 16 x 16 union

450003 D. 16 x d. 10 adapter

450004 D. 16 x d. 8 adapter

00715/0 D. 16 x d. 12 adapter

Code Description

ACCESSORIES
A

CC
ES

SO
RI

ES

LP
G



A
CC

ES
SO

RI
ES

15

Code Description

Airtight boxes

LPG Tank accessories
422048 Coupling for D. 8 biconic gland

423002 Tank clamp tie rod

423005 Remote control cable, toroidal tank's cap

423004 Toroidal tank remote control cap

423001 23 x 1.5 x 1.000, tank clamps pair, complete with bolts and tie rods

423030 30 x 1.5 x 1.200 tank clamps pair, complete with bolts and tie rods

423003 ABS cover for toroidal tanks multivalve

423016 ABS cover for OMVL 67 R.01 toroidal tanks multivalve

423038 Plate cover for Diam. 580 "external" toroidal tank

423008 Plate cover for Diam. 600 "external" toroidal tank

423033 Plate cover for Diam. 650 "external" toroidal tank

423043 Insulating pad for toroidal tank

423010 D. 30 plastic vent hose for airtight box 

423012 Plastic "K30" Type trunk vent hose connection

423039 Middle size nylon spare tire cover

423040 Big nylon spare tire cover

423041 Big nylon thin spare tire cover

423042 Nylon small thin spare tire cover

LPG Tank support frame
423006 Cross support for "external" toroidal tank

423020 Universal tank support complete with fitting nots

423021 Support for FIAT 131, without clamps

423023 Support for FIAT UNO, without clamps

423025 Support for LANCIA DELTA, without clamps

423026 Support for VOLKSWAGEN GOLF (1998), without clamps

423027 Support for FIAT TIPO, without clamps

423028 Support for AUDI 80, without clamps

423032 Support for MERCEDES N.T., without clamps

423036 Support for FIAT PUNTO, without clamps 

423037 Support for FIAT TIPO, without clamps (Long model)

423014 Fitting for "internal" GHEZZI toroidal tank

Airtight boxes
424206 OMVL, Mod. AIR LOCK for 67 R.01 cylindrical tanks

LPG Equipment Accessories
440011 Intake alluminium manifold for RENAULT 16V engines

422043 Filling tap adaptor

422045 16PC 00990004 plastic cap for filling tap

422046 16PC 00990003 plastic cap for filling tap

422054 Float for OMVL multivalve

423013 Inset box for filling tap

424200 OMVL separate filling tap

424203 Filling tap kit for gasoline cap insert box

440001 Oil meter

440002 LPG Filter

440003 VOLKSWAGEN "dry" pre-heater

900068 OMVL multivalve accessories

ACCESSORIES

LP
G



16

DREAM XXI spare parts

Injection Rail Unit
904005 DREAM XXI-N IP54 4C metering unit kit

904006 DREAM XXI-N IP54 3C metering unit kit

904007 DREAM XXI-N IP54 5C metering unit kit

904008 DREAM XXI-N IP54 8C metering unit kit

904009 DREAM XXI-N IP54 6C metering unit kit

Reducers
901702 DREAM XXI 3-4 cyl. Reducer

901704 DREAM XXI N 3-4 cyl. Reducer

901705 DREAM XXI N 5-6-8 cyl. Reducer

901702 DREAM XXI N Reducer Medium Power

ECU - Electronic Control Unit
411035 DREAM XXI 3 - 4 cylinders ECU

410509 DREAM XXI N 3 - 4 cylinders ECU

410521 DREAM XXI N 5 - 6 - 8 cylinders ECU

Cablings
410509 Black cable (various connections) DREAM XXI N 3-4 cyl. ECU 400001

410511 Grey cable (injector connection) DREAM XXI N 3-4 cyl. ECU 400001

410522 DREAM XXI N 5-6 8 cyl. ECU cables 400002

Miscellaneous

424207 Gasket for OMVL multivalve mod. Secure-Block 67 R.01

424202 Cover for OMVL airtight box mod. Air Lock 67 R.01

900087 Package of 5 unions 90° 01385 reducer gas outlet K901704 - K90102

900088 Package of 5 unions 120° 01455 reducer gas outlet K901704 - K90102

900089 Package of 10 water unions 00725/0

402001 LPG solenoid valve for reducer K901704

402002 LPG solenoid valve for reducer K901705 K901707 - K901708 - K901709

900090 Package of 5 Bobbins IP67 409004 for metering unit

900091 Package of 5 reducer temperature sensor with tap and unions IP54 10565

900092 Package of 5 injection rail taps with temperature sensor and PTP 

(pressure test point) 10568

900035 Membrane and gasket kit for reducer R90/E electronic

900065 Membrane and gasket kit for reducer Boreg 95 

900093 Membrane and gasket kit for reducer K901704

900094 Membrane and gasket kit for reducer K901705

900097 Package of 10 "T" plastic unions for compensating tubes code 405033

900098 Package of 10 "Click" clamps for 4x10 tubes code 415027

900099 Package of 10 "Click" clamps for 12x19 tubes code 415026

410512 DREAM XXI N differential map sensor

410508 Change-over switch DREAM XXI N

Code Description

SPARE PARTS

Injectronic Control Unit

Reducer / Vaporizer

ECU Electronic Control Unit

LPG solenoid valve for reducer

SP
A

RE
 P

A
RT

S

LP
G





FRONT KIT
DREAM XXI N - CNG

Kit for injection engines with catalyser and lambda probe
With Catalytic Device REG-MATIC MILLENNIUM 21
With deceleration switch 410115.1 and Pressure Sensor 411010 
and Non-return Filling Valve 21
Reduced Kits (without pipes and clamps) 21
With actuator "REG-MATIC"  GAS SELF SETTING 21
With Deceleration Switch 410115.1 and Pressure Sensor 411010 21
With actuator "REG-MATIC"  GAS SELF SETTING 21

Kit for Injection Engines 21

Kit for Carburator Engines
Supplied with Switch and Pressure Sensor 411010 21
Supplied with Switch without Level Indicator 21

COMPONENTS
CNG REDUCERS

CNG Reducers without Switch 22
Boxes of CNG Reducers 22
Accessories for Reducers 22

Devices for cars with catalytic muffler
REG-MATIC MILLENNIUM 22

"REG-MATIC" MILLENNIUM Accessories
REG-MATIC GAS SELF SETTING 22

"REG-MATIC" GAS SELF SETTING Accessories 
ECON-EC 22

Solenoid Valves 23

Change over switches 23

CNG Pressure Sensor Kit 
For change over switches suitable for indicators 23

Gauges 23

IN
D

EX
 C

N
G



ACCESSORIES
Accessories for Dream XXI N

Injector cut-off cables 24
Software and Serial Cable 24
Injection rail unit nozzles 24

Cables for Injection engines 25

Relays for Injection cars 25

Electronic Spark Timing Advance Processor 25

KIT for Spark Timing Advance Processors 25

Emulators
For Injectors 26
For vehicles equipped with OBD II device 26
For Lambda Probe 26

Cables accessories 27
For Switches, Emulators, Indicators and Timing Advance Processor 27

Electronic accessories 27

Electrical accessories 28

Forks - Couplings - Adjusters 28

Hoses and Pipes
Gas Hoses 29
Gasoline Hoses 29
Vacuum Hoses 29
Water Hoses 29
Copper and Steel Pipes 29
Vent Hoses 29

Hose clamps 30

Unions
Unions for CNG equipment  30
Unions for coolant hoses 30

Tank Valves 31

CNG System Fittings 31

SPARE PARTS
DREAM XXI spare parts

Injection Rail Unit 32
Reducers 32
ECU- Electronic Central Unit 32
Cables 32

Miscellaneous 32

IN
D

EX
 C

N
G



This catalogue, precious tool for all the technicians installing REG® components, will be kept up-dated by OMVL,
through a regular dispatch of the latest information on perforated pages, that only need to be inserted in the
catalogue already in the Customer’s possession. This simple but essential operation will ensure that this publication
remains an efficient and reliable reference tool.

Reproduction, duplication and translation of this publication, including excerpts therefrom, is only to ensue with our
previous written consent and with particulars of source. Illustrations, descriptions, schematic diagrams and other
data only serve for explanatory purposes and for presentation of the text. They cannot be used as the basis for design,
installation and scope of delivery. We undertake no liability for conformity of the contents with international,
national or local regulations. We reserve the right to make changes at any time, without prior notice.



FR
O

N
T 

KI
T

Code Description

FRONT KIT

Reducer / Vaporizer

ECU Electronic Control Unit

Charge-over switch gas/petrol

Injectronic Control Unit

21

DREAM XXI N - CNG
Complete Kit
Reducer, ECU, injection rail unit, switch supplied with CNG level sensor,
injector gas hoses, gas hose connecting reducer to rail, dIfferential pressure
sensor, water hoses, steel tube, vacuum hoses, filling valve - Italian version
tank valve, fitting accessories
900702 Complete Kit for  4 Cylinder vehicles Stand Alone

900705 Complete Kit for 3 Cylinder vehicles

900704 Complete Kit for 4 Cylinder vehicles

900706 Complete Kit for 5 Cylinder vehicles

900707 Complete Kit for 6 Cylinder vehicles

900708 Complete Kit for 8 Cylinder vehicles

Mini Kit
Reducer, ECU, gas injection rail, switch with gas level sensor, injection gas
hoses, gas hose connectiong reducer to rail, differential pressure sensor, gas
level sensor, fittings accessories
900709 Minikit for 3 Cylinder vehicles

900710 Minikit for 4 Cylinder vehicles

900711 Minikit for 5 Cylinder vehicles

900712 Minikit for 6 Cylinder vehicles

900713 Minikit for 8 Cylinder vehicles

Kit for injection engines with catalyser and lambda probe
With Catalytic Device REG-MATIC  MILLENNIUM

900188 With reducer R89/E up to EURO 4

With deceleration switch 410115.1 and Pressure Sensor 411010 
and Non-return Filling Valve 
Reduced Kits (without pipes and clamps)

900176RP With Reducer R89/E for monoinjection BOSCH Kat.+Econ-Ec

900177RP With Reducer R89/E for standard injection Kat.+Econ-Ec

With actuator "REG-MATIC"  GAS SELF SETTING
900176RP.1 With Reducer R89/E for injection Kat. + REG-MATIC

With Deceleration Switch 410115.1 and Pressure Sensor 411010 
900178RP With Reducer R89/E for monoinjection BOSCH Kat.+Econ-Ec

900179RP With Reducer R89/E for standard injection Kat. +Econ-Ec

With actuator "REG-MATIC"  GAS SELF SETTING
900178RP.1 With Reducer R89/E for Injection Kat. + REG-MATIC

Kit for Injection Engines 
For Injection engine with deceleration switch 410115.1

900163/IRP With Electronic Reducer R89/E for standard injection, PVC coated copper tube

900164/IRP With Electronic Reducer R89/E for standard injection, PVC coated steel tube

Kit for Carburator Engines
Supplied with Switch and Pressure Sensor 411010

900163/CRP With Electronic Reducer R89/E, PVC Coated Copper Tube and Switch 4101116

900164/CRP With Electronic R89/E Reducer, PVC Coated Steel Tube and Switch 4101116

Supplied with Switch without Level Indicator
900163/CO With Electronic R89/E Reducer, PVC Coated Copper Tube and Switch 4101104

900164/CO With Electronic R89/E Reducer, PVC Coated Steel Tube and Switch 410104

C
N

G



Code Description

COMPONENTS

Reducer / Vaporizer

R04 REGBULL

KIT REG-MATIC MILLENNIUM 

REG-MATIC Millennium  
serial interface

CO
M

PO
N

EN
TS

22

CNG REDUCERS

CNG Reducers without Switch
901300 R04 REGBULL CNG Multifunctional Pressure Reducer

901100 Electronic R89/E, for carburator or injention systems 

901100K Catalytic Electronic R89/E for catalytic injection systems

901100.8 Electronic R89/E D.8, for carburator or injection systems

Boxes of CNG Reducers
CF10R89E Boxes of 10 reducers 901100 

CF10R89ECAT Boxes of 10 reducers 901100K 

Att. : packaging costs to be evaluated 

Accessories for Reducers
915008 Gas outlet nipple 90°, male/female D.19, for R89/E and R90/E reducers

Devices for cars with catalytic muffler

REG-MATIC MILLENNIUM 
411031 "REG-MATIC" MILLENNIUM electronic actuator, supplied with switch, 

electronic control unit and accessories

"REG-MATIC" MILLENNIUM Accessories
411028 "REG-MATIC" MILLENNIUM Serial Interface

411030 "REG-MATIC" MILLENNIUM feed-back software

411032 "REG-MATIC" MILLENNIUM hand -held tester

REG-MATIC GAS SELF SETTING
915009 "REG-MATIC" Gas Self Setting complete electronic actuator, 

supplied with electronic control unit and standard cables

"REG-MATIC" GAS SELF SETTING Accessories 
(quantity to be specified when ordering)

410136 Cable with setting push botton for "REG-MATIC" 

410137 Setting push botton for "REG-MATIC""

ECON-EC
915004 Econ-Ec" Electro-pneumatic device with electronic control unit

410111 Econ-Ec" Electronic control unit - 0.53 Volt wit 5 wires 

for monoinjection BOSCH engine

410112 "Econ-Ec" Electronic control unit - 0.53 Volt with 5 wires 

for standard injection engine

410054 Tester for "Econ-Ec" actuator

C
N

G

REG-MATIC 



CO
M

PO
N

EN
TS

Code Description

COMPONENTS

Charge-over switch gas/petrol

Gauge

23

Solenoid Valves

902009 Petrol Solenoid valve brass

Change over switches

For vacuum reducer, not preset fol level indicator
410015 With led and manual primer, without carburettor filling 

For vacuum reducer, preset fol level indicator
410045 With manual primer, without carburettor filling

410046 With manual primer and carburettor filling

For electronic reducers, not preset for level gauge
410103 Mod. "Dual fuel", gasoline engine start, acceleration fuel switch 

410109 Mod. "Dual fuel", gasoline engine start, deceleration fuel switch 

410104 Mod. "Lynx" with "Safety car" and carburettor filling, "I" series

410105 Mod. "Lynx" with "Safety car" without carburettor filling, "I" series

For electronic reducers, preset for level indicator (ECE67 R.01)
410101.1 Mod. "Dual fuel", SMALL, gasoline engine start, acceleration fuel switch 

410115.1 Mod. "Dual fuel", SMALL, gasoline engine start, deceleration fuel switch 

410106 Mod. "Lynx" with "Safety car" without carburettor filling 

410116 Mod. "Lynx" with "Safety car" and carburettor filling

CNG Pressure Sensor Kit 

For change over switches suitable for indicators 
411010 CNG Sensor Kit

411016 "I" type sensor Kit, radial connection

410157 CNG Pressure Sensor Kit for reserve 

Gauges

430010 400 bar, back attachment 1/4" Gas with gasket 

430012 400 bar, radial attachment 1/4" Gas with gasket 

00590/0 Copper gasket for gauge 1/4" Gas

C
N

G



Code Description

ACCESSORIES

Software and hardware key

Injection rail unit nozzles

A
CC

ES
SO

RI
ES

24

Accessories for Dream XXI N

Injector cut-off cables
410514 Injector cut-off cable for 3 cylinders car with straight BOSCH connector

410515 Injector cut-off cable for 3 cylinders car with inverted BOSCH connector

410516 Injector cut-off cable for 4 cylinders car with straight BOSCH connector

410517 Injector cut-off cable for 4 cylinders car with inverted BOSCH connector

410518 Universal type Injector cut-off cable for 4 cylinders car without connector

Attention to:
Only 1 injection cut-off cable has to be ordered 
for DREAM 3-4 cylinders kit
Nr 2 injection cut-off cables for 3 cylinders car are required 
for DREAM 5 - 6 cylinders kit
Nr 2 injection cut-off cables for 4 cylinders car are required 
for DREAM 8 cylinders kit 

Software and Serial Cable
410523 Kit installation Software for " Installer" 

410524 Kit installation Software + hardware key 

410519 Software + Hardware Key for " Emissions Test "

411028 Kit Installation Software + pc Serial Interface

411050 USB PC Interface

Injection rail unit nozzles 
01408 Injection rail unit noozle diam. 2.5 mm

01442 Injection rail unit noozle diam. 2.0 mm

01444 Injection rail unit noozle diam. 1.75 mm

01445 Injection rail unit noozle diam. 3 mm

900083 Package nr. 20 Injection rail unit nozzles diam. 2.5 mm

900084 Package nr. 20 Injection rail unit nozzles diam. 2.0 mm

900085 Package nr. 20 Injection rail unit nozzles diam. 1.75 mm

900086 Package nr. 20 Injection rail unit nozzles diam. 3 mm

C
N

G



A
CC

ES
SO

RI
ES

Code Description

ACCESSORIES

Electronic Spark Timing Advance
Processor "Wolf-N" Model 

25

Cables for Injection engines

410070 For Injector cut-off on 4 cylinders engines supplied with "timing relay"

NOTE: Nr 2 cables 410070 are required for 8 cilynders 
410071 For Injector cut-off on 6 cylinders engines supplied with "Timing relay"

410074 For Injector cut-off for Alfa Romeo "boxer" engine supplied with "Timing relay"

Relays for Injection cars

410020 12V, 30Amp injection car relay

410064 Timing relay

410073 Adjustable Timing relay

410083 Double timing relay

410091 KEY-CODE electronic relay

410131 30Amp double switch relay 

Electronic Spark Timing Advance Processors

410202 "Platinos" Model

410215 "Spark 2" Model 

410216 "Spark master" Model 

410220 "Green master" Model

410221 "Wolf-N" Model

410222 "Joker" Model 

410223 "Biwolf" Model

410225 "Kat. HONDA" Model 

410231 "Black" Model

410310 "D.I.S. 92" Model 

410237 Universal "Pick-up" Model

410238 "Mouse" Model

410326 "Koala" Model for RENAULT Kangoo - Clio - Mégane 1.4 8V

KIT for Spark Timing Advance Processors 

410307 For PEUGEOT cars

410308 For OPEL cars

410309 For RENIX injections

410312 Wires for ALFA ROMEO "Spark Timing Advance Processor 2"

410313 For FIAT Bobbins

410316 For "Spark 2" bi-bobbins

C
N

G



26

A
CC

ES
SO

RI
ES

Emulatore MAP

Dual bank injector emulator

Pitagora "AEB 160" Emulator

Code Description

ACCESSORIES

Emulators

For Injectors
410159 Single bank injector emulator

410160 Dual bank injector emulator, 4 or 6 cylinders engines 

410049 For Renix injection engines

410052 "Oxigen sensor" simulator

410059 For MERCEDES M200

410061 For FIAT TEMPRA and LANCIA DEDRA 1.8/2.0 Kat. Multipoint injection

410062 For ALFA ROMEO 155 and 164 Kat.

410063 For FIAT PANDA Kat.

410065 For HONDA bi-injection

410066 For OPEL ASTRA

410075 For NISSAN PRIMERA 1.6 16V Multipoint injection 

410077 M.A.P. sensor

410082 For LANCIA "K"

410089 For VOLVO 1.5 ohm Mono-injection

410123 Mod. KNOCK

410127 For HYUNDAI LANTRA 1.6i - 1.8i Multipoint SIEMENS Injection

410133 Archimede Mod. for 4 cylinders ISUZU engines

410146 Pitagora Model "AEB 160"

410147 Pitagora Model "AEB 160-J" for 4 cylinders engines Japanese Type

410148 Pitagora Model "AEB 160-H" for HONDA engines 

410149 Pitagora Model "AEB 160-S" for 4 cylinders SUBARU engines

410150 Pitagora Model "AEB 160-B" for 4 cylinders boxer engines

410151 Pitagora Model "AEB 160-FB" for FIAT BRAVO e BRAVA

410152 Pitagora Model "AEB 160-5" for 5 cylinders engines 

410153 Pitagora Model "AEB 160-6" for 6 cylinders engines 

410154 Pitagora Model "AEB 160-N" 4 cylinders NISSAN engines 

410155 For Injection engines IAW AMERICA 

410146.1 Pitagora Model 4 cylinders Universal Type

410149.1 Pitagora Model 4 cylinders Subaru Forester Type

410153.1 Pitagora Model 6 cylinders Universal Type

For vehicles equipped with OBD II device 
410323 OBD II-µFIX "424" 

410324 OBD II-µFIX "425"

410325 OBD II-µFIX "426"

411038 Diagnostic Hand-held Tester for OBD II Systems

410170 Programming Kit for OBD II device

410327 Adapter connecting AEB 425 to lamda probe

For Lambda Probe
410051 For BOSCH mono-injection

410085 For OPEL ECOTEC 16V

410086 For reverse signal 5Volt lamba probe, VOLVO 840 10V

410087 For resistive lambda probe, ALFA ROMEO 145 1.300cc

410134 For VOLVO 850 GLT 20v 2.0 Bosch Injection

OBD II-µFIX "425" emulator

Diagnostic had-held Tester 
for OBD II device

C
N

G



A
CC

ES
SO

RI
ES

Code Description

ACCESSORIES

Cut-Off device for TPS

27

Cables accessories

For Switches, Emulators, Indicators and Timing 
Advance Processor 

410057 Extension for CNG pressure sensor 2.5 mt.

410055 Cables and Fittings for switch and Econ-Ec ECU

410055I Cable for switch - "I" type

410079 Cable for Emulators 410061 - 410062 - 410066

410125 Cable for Timing Advance Processors 410202 - 410221 - 410222 - 410310

410138 Cable "A" for Timing Advance Processors 410237 ALFA ROMEO - PEUGEOT

410139 Cable "B" for Timing Advance Processor 410237 

410140 Cable "C" for Timing Advance Processor 410237 FIAT- LANCIA - PEUGEOT

410141 Cable "D" for Timing Advance Processor 410237 VOLVO

410142 Cable "E" for Timing Advance Processor 410237

410143 Cable "F" for Timing Advance Processor 410237 MERCEDES - OPEL

410144 Cable "G" for Timing Advance Processor 410237 RENAULT

410145 Cable "H" for Timing Advance Processor 410237 RENAULT

Electronic accessories

410156 "SPHERENET" kit- electromagnetic noise blanker (1 pair)

410043 Idling Stabilizer

410171 Mechanical Idling adjuster

410076 Signal Amplifier

410167 RPM Signal Amplifier Multiplier 

410168 RPM Signal Double for bi-bobbins engines 

410169 RMP Multiplier

410080 5Volt Lamba Probe Adapter 

410100 Adjustable "Safety car", without change-over switch

410117 Starting protection

410120 BOSCH Mono-inection Idling Stabilizer

410121 MAP-GAS, MAP Signal Optimizer

410124 K/J stop Device

410128 Adapter wit temperature sensor

410129 Cut-off" Idling valve(Injector signal)

410164 "Cut-Off" Device for TPS

410321 MAP-GAS, MPA Signal Optimizer for Marelli I.A.W. 49F Injection

for FIAT Marea; Brava; Bravo  LANCIA Delta; Dedra 1,6i 16V Kat.

434013 Gas detector, display available in various languages 

C
N

G



Code Description

ACCESSORIES
A

CC
ES

SO
RI

ES

28

Electrical accessories

410016 Pre-tinned Faston

410018 Faston Cover

410033 "MTA" fuse holder

410034 5Amp "MTA" 5amp Laminar Fuse

410035 Connector sp. 025/1 "MTA"

410047 Fuse carrier "MTA"

434009 Electric Welder 

434012 Shearer for "I" type switches

434012.1 Shearer for "SMALL" type switches

915007 "MTA" Plate Fuse Holder Kit 

Forks - Couplings - Adjusters

405001 "2-ways" Idling Fork (iron)

405002 "4-ways" Idling Fork 

405003 "2-ways" Idling Fork ( nylon) 

405005 "maximum" Fork ( 17x17x17) without adjuster (nylon)

401003 Coupling diam. 8 a- 90°

401004 Coupling diam. 10 - 90°, M10x1 "long"

905001 Coupling M8 for diam. 10 pipe

905002 Coupling M10 for diam. 10 pipe

905003 Coupling M12 for diam. 12 tube

905005 Coupling M10 for diam. 16 pipe

905006 Coupling M12 for diam. 16 pipe

401010 "Y" Regulator diam. 17x17x17 1R with spring (nylon)

907001 Self-blocking Separated Regulator diam. 17x10 1R

907003 Self-blocking Separated Regulator diam. 17x17 1R 

907004 "Y" Self-blocking Separated Regulatro diam. 17x10x10 1R 

907005 "Y" Self-blocking Separated Regulator diam. 17x10x10 2R

401005 Nozzle 14x1, diam. 19 pipe supplied with Regulator

405004 "4-ways" Distributor, without Regulator 

405025 Union at 90°, M12x1 "short"

C
N

G



A
CC

ES
SO

RI
ES

Code Description

ACCESSORIES

29

Hoses and Tubes

Gas Hoses
631021 Rubber hose cloth sheathed D. 12 x 17

631023 Rubber hose cloth sheathed D. 10 x 17

631024 Rubber hose cloth sheathed D. 18 x 26

631029 Rubber Hose  D. 17 x 24  ECE 110 R.01 marked 

631030 Rubber Hose  D. 19 x 27  ECE 110 R.01 marked

631031 Rubber Hose  D. 12 x 19  ECE 110 R.01 marked

631035 Rubber Hose  D. 10 x 17  ECE 110 R.01 marked

Gasoline Hoses
631022 Roll of rubber hose D. 6 x 13 x  50 mt

Vacuum Hoses 
631002 Roll of Rubber Hose N220 D. 3 x 7

631004 Roll of Fabric Rubber Hose D. 5 x 10.5

Water Hoses
631006 Roll of Rubber Hose D. 15 x 23  (60 mt) - � x mt.

631006C "Gates" Roll of Rubber Hose D. 15 x 23 (15 mt)

Copper and Steel Pipes
00799/0 Copper tube PVC coated D. 6 x 1 x 5,5 mt

00800/0 Copper tube PVC coated D. 6 x 1 x 6,25 mt

00803/0 Copper tube PVC coated D. 8 x 1 x 2,2 mt

00804/0 Copper tube PVC coated D. 8 x 1 x 2,5 mt

618005 Roll of copper tube PVC coated D. 6 x 1 x 50 mt

618007 Roll of copper tube PVC  coated D. 8 x 1 da 50 mt

00796/1 Roll of electrically welded steel tube PVC coated D.  6 x 1 x 6 mt

00796/2 Roll of seamless steel tube PVC coated D.  6 x 1 x 6 mt

Vent Hoses
631040 Roll of black MOPLEN hose  D. 30 x 50 mt

631041 Roll of black PVC hose  D. 30 x 50 mt

430016 Extensible vent hose cm. 70 long
C

N
G



Code Description

ACCESSORIES
A

CC
ES

SO
RI

ES

Hose clamps

415002 D.10 clamp for D. 8 x 1 tube

415003 D. 8 clamp for D. 6 x 1 tube

415004 135 x 2,6 black nylon clamp

415007 200 x 2,6 black nylon clamp

415014 240 x 8 black nylon clamp

415025 D. 10 x 18  screw clamp (gasoline hose) 

415024 D. 12 x 22 screw clamp (minimum batch 1.000 pcs)

415009 D. 16 x 25 screw clamp (water hose)

415010 D. 20 x 32 screw clamp

415011 D. 25 x 40 screw clamp

415012 D. 32 x 50 screw clamp

415013 D. 40 x 60 screw clamp (minimum batch 800 pcs)

415015 Split pin clamp 270 x 9

415016 Split pin clamp 250 x 5

415017 Split pin clamp 400 x 9

415020 Bifilar clamp 7,8 / 8,3 with spring

415021 Bifilar clamp  25,1 / 26,4 with spring

415022 Rubber coated clamp fori D. 8 tube (minimum batch 100 pcs)

415023 Rubber coated clamp for D. 6 tube

Unions

Unions for CNG equipment 
430027 Long lock fitting M12 x 1  (steel)

430032 Long lock fitting M12 x 1 for D. 8 copper tube  (iron)

00602/0 Lock fitting M10 x 1 (brass)

00538/0 Lock fitting M10 x 1 (iron)

00612/0 Lock fitting M12 x 1 (steel)

00548/0 Intermediate fitting M12 x 1 (brass)

00548/1 Intermediate fitting M12 x 1 (stainless steel AISI 316)

00680/0 Gauge holder "T" fitting (brass)

450005 Complete M10 x 1 "T" fitting for D. 6 copper tube 

00613/0 Steel biconic gland for D. 6 tube 

00613/1 Stainless steel AISI 316 bicone for D. 6 tube 

00747/0 Brass biconic gland for D. 8 tube

00550/1 M12 x 1cap 

00557/0 M10 x 1cap

450007 Complete M12 x 1 union for D. 6 copper tube

Unions for coolant hoses
450001 Nylon "T"  D. 20 x 20 x 16 union 

00522/1 Nylon "T"  D. 17 x 17 x 17 union

00585/1 Nylon "T"  D. 17 x 14 x 14 union 

450002 D. 16 x 16 union

450003 D. 16 x d. 10 adapter

450004 D. 16 x d. 8 adapter

00715/0 D. 16 x d. 12 adapter

30

C
N

G



A
CC

ES
SO

RI
ES

Code Description

ACCESSORIES

Cut-Off device for TPS

31

Tank Valves 

920014 New VMB/C model hand grip - attachment M12 x 1, 

suppllied with coupling and strip

920016 New model VMB/CPEF grip hand valve (BRAZIL)

00754/1 Grip hand for new VMB/CP valves

00754/0 Grip hand for VMB/CP valves

430029.2 Ball valve - 198-1 model - supplied with thermal link, attachment M14x1 

(VENEZUELA)

430029.3 Ball valve - 198-1 model - supplied with thermal link, attachment M12x1 

(VENEZUELA)

430041 Ball valve - 198-1 model - supplied with thermal link, 3/4" 14 NGT, 

attachment M12x1 (BRAZIL)

430009.1 Oversize valve container 198-1

430015 Valve supplied with thermal link support, ddiaphragm, flow, 

incorporated aeration 3/4" 14 NGT, attachment M12x1

CNG System Fittings

440011 Manifold Renault 16V

00677/0 Filling Valve Flask 

00920/0 Filling swift coupling

10508/0 Filling valve plug

430039 Assembling on line Electrovalve (220bar)

430025 Filling Swift Spindle

430011 Ball filling valve - 198-2 type, attachment M12 x 1

900064 Lever filling valve kit 

430042 Non-return filling valve kit 

430024 Filling valve M.12X1-1/2 GAS con Pico New Zealand Type 

430026 Filling Valve M.12X1-1/2 CNG with Pico Argentina (ARGENTINA) 

430040 Filling Valve supplied with NGV1-P30 - 1/2" coupling CNG (VENEZUELA)

450006 Fixing Tank Couple of band ( 1.200 x 22 x 1.5)

450008 Fixing Tank Couple of bands ( 1.200 x 30 x 1.5)

450019 Fixing Tank Couple of bands ( 1.500 x 50 x 2)

423035 Universal Square Shape Support (cng tanks) 100 cm 

912001 Gasoline non-return valve Valvola, (Tube D. 7)

912010 Gasoline non-return valve (Tube D. 5)

C
N

G



Code Description

SPARE PARTS

Injectronic Control Unit

Reducer / Vaporizer

ECU Electronic Control Unit

SP
A

RE
 P

A
RT

S

32

DREAM XXI spare parts

Injection Rail Unit
904005 DREAM XXI-N IP54 4C metering unit kit

904006 DREAM XXI-N IP54 3C metering unit kit

904007 DREAM XXI-N IP54 5C metering unit kit

904008 DREAM XXI-N IP54 8C metering unit kit

904009 DREAM XXI-N IP54 6C metering unit kit

Reducers
901200 DREAM XXI 3-4 cyl. Reducer

901202 DREAM XXI N 3-4 cyl. Reducer

901203 DREAM XXI N 5-6-8 cyl. Reducer

ECU - Electronic Control Unit
411035 DREAM XXI 3 - 4 cyl. ECU

411044 DREAM XXI 5 - 6 - 8 cyl. ECU

410509 DREAM XXI N 3 - 4 cyl. ECU

410521 DREAM XXI N 5 - 6 - 8 cyl. ECU

Cables
410509 Black Cable (various links) - DREAM XXI N 3-4 cyl. 400001 ECU

410511 Grey Cable (injector link) - DREAM XXI N 3-4 cyl. 400001 ECU

410522 ECU Cable - DREAM XXI N 5-6 8 cyl. 400002 ECU

Miscellaneous

900087 Package of Nr 5 unions - 90° 01422 gas-outlet reducer K901704 - K901202

900088 Package of Nr 5 unions 120° 01455 gas-outlet reducer K901704 - K901202

900089 Package of Nr 10 water unions 00521/1

402002 Package of Nr 5 Bobbins IP54 for Reducer K901202 - K901203

900090 Package of Nr 5 Bobbins IP67 409004 for Metering Unit 

900091 Package of Nr 5 Reducer Temperature Sensors supplied 

with plug and connector IP54 10565

900092 Package of Nr 5 metering uniti plugs supplied 

with temperature sensors and pressure plug 10567

900036 R89/E Electronic Repair kit

900039 R89/E1 Vacuum Repair kit

900095 Diaphragm kit and reducer gasket K901202

900096 Diaphragm kit and reducer gasket K901203

900097 Package of Nr 10 PVC "T" unions ( compensation tube 405033)

900098 Package of Nr 10 "Click" Clamps (tube 4x10 415027)

900099 Package of N 10 "Click" Clamps (Tube 12x19 415026)

410512 DREAM XXI N Differential MAP Sensor

410508 DREAM XXI N change over switch

C
N

G



OMVL produce componenti e sistemi per

la conversione a gas degli autoveicoli.

La gamma di prodotti REG® è presente

sul sito www.omvlgas.it

OMVL produces gas conversion

systems and components for vehicles.

REG® product catalogue is available

on our site at www.omvlgas.it

Via Rivella, 20  

35020 Pernumia PADOVA - Italy

Tel. +39 0429 76 41 11   

Fax +39 0429 77 90 68

www.omvlgas.it

e-mail: omvlgas@omvlgas.it

PR
OD

UC
T 

LI
ST

 1
/2

00
4


